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This section provides an introduction to the basic terminology and 
concepts of economics. It enables candidates to consider what 

markets and governments can and cannot do. It provides 
candidates with the opportunity to explain economic phenomena 
through the use of diagrams, data analysis and the evaluation of 
economic materials. It is intended to make candidates aware of 
the role of economics in real-world situations. It is expected that 

these concepts and principles are applied throughout the 
syllabus. 

@dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      2 
Economics Department 

H1 Economics 8823 Syllabus Guide 
(For your reference)  

@dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      3 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      4 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      5 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      6 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      7 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      8 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      9 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Price Mechanism and its applications 

Raffles Institution      10 
Economics Department @dream



 Year 5 H1 Economics 2018 Microeconomics Lecture Notes 
Central Economic Problem   

Raffles Institution      11 
Economics Department 

RAFFLES INSTITUTION 
YEAR 5 H1 ECONOMICS 2018 

CENTRAL PROBLEM OF ECONOMICS 

Outline of Contents 

1 What is Economics? 
1.1 Some Economic Issues 
1.2 Definitions and Classifications 
1.3 Overview of Topic 

2 Scarcity, Choice & Opportunity Cost 
2.1 Scarcity of Resources 
2.2 Inevitability of Choices 
2.3 Opportunity Cost 
2.4 The Production Possibility Curve (PPC) Model 
2.5 Shifts in the PPC 

3 Rational Decision-Making and the Marginalist Principle 
3.1 Decision Making Units or Economic Agents 
3.2 The Economic Decision Making Process 

 Recognising constraints in decision making
 Weighing cost and benefits in decision making
 Gathering information, recognising trade-offs, intended/unintended consequences
 Consider other perspectives

3.3 Making Rational Decisions 
3.4    The Marginalist Principle 

4 Resource Allocation in a Free Market Economy 

Reference 
 Gillespie, Andrew. Foundations of  Economics, 2nd Edition, New York: Oxford University Press

Lecture Objectives: 
After the series of lectures, students should be able to: 
- Explain the central economic problem.
- Illustrate the concepts of scarcity, choice and opportunity cost and the nature of trade-offs through

the use of examples and production possibility curves.
- Explain that all economic agents facing the problem of scarcity make decisions in identifying their

highest-ranked alternative, which aims to maximise their well-being. In the process of making
these decisions, they are subjected to constraints and they have to recognise trade-offs of their
decisions.

- Understand that economic agents weigh the incremental benefits against incremental costs in
decision-making.

- Demonstrate awareness of the price mechanism and resource allocation in a free market
economy.
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1 WHAT IS ECONOMICS? 

1.1  SOME ECONOMIC ISSUES 

The global economy continues to be in a state of flux with the economic growth in 
China slowing down, the Eurozone economies remaining weak while the U.S is 
experiencing signs of nascent recovery. Major economies have started to turn insular 
in response to the negative effects of globalisation.  Many people in African countries 
and other parts of Asia also continue to live below the poverty line. The uncertain 
effects of global warming and other man-made environmental problems like 
transboundary haze pollution impact the livelihoods of people in and cost 
governments affected regions millions of dollars. With the development of 
technologies that have already begun to disrupt traditional markets, governments 
around the world have to grapple with and respond to these new developments that 
are here to stay. Closer back home, economists warn that the economic growth of 
Singapore will slow down further if labour productivity does not increase.  

What do these problems have in common? How can countries overcome these 
problems? What is the central theme underlying Economics?  

1.2 DEFINITIONS AND CLASSIFICATIONS 

The study of Economics involves extensive use of economic concepts. It is necessary 
to be familiar with how economists define economic concepts.  

P Samuelson 
(1915-2009) 

Economics is the study of how man and society choose to employ 
scarce productive resources which could have alternative uses, 
to produce various commodities (goods and services) over time 
and distribute them for consumption, now and in the future. 

 “Wants” refer to all those things people would consume if they had unlimited 
incomes. Wants of people are unlimited.  However, the resources used to satisfy 
these wants are, on the other hand, limited. Depending on the context, “resources” 
can refer to factors of production or inputs (e.g. land, labour, physical capital and 
entrepreneurship), income and time. “Goods and services” refer to anything that 
gives a person satisfaction or utility.  

Economists study how people make use of the limited resources to satisfy their 
unlimited wants.  They study the problem of scarcity. 

What is the distinction between needs and wants?  
Needs are finite and must be satisfied for people to survive.  Wants, on the other hand, 
are unlimited and cannot be satisfied fully because of limited resources. Can you think 
of any examples? 

1.2.1 Difference between Microeconomics and Macroeconomics 
“Economics is split between analysis of how the overall economy works 
(macroeconomics) and how single markets function (microeconomics).”  

 Microeconomics is a branch of economics that studies how individuals,
households and firms make decisions to allocate limited resources, typically
in markets where goods or services are being bought and sold. It further
examines how these decisions and behaviour affect the supply and demand
for goods and services, which in turn determines prices.

 Macroeconomics is the branch of economics that studies the entire
economy.  As such, it deals with economy-wide phenomenon such as
changes in unemployment, the general price level and national income.
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1.2.2 The Science of Economic Analysis 

• Positive and Normative Economics

Positive economics is a branch of economics that describes and explains economic 
phenomena, focusing on facts and cause-and-effect behavioural relationships and 
includes the development and testing of economic theories.  

A positive statement is a statement of fact (value-free).  It may be right or wrong.  By 
appealing to the facts, a positive statement can be tested for its accuracy. 

Examples: The economy grew by 7% last year. 

If GST is raised from 5% to 7%, the price of most goods will rise. 

Normative economics is a branch of economics that expresses value judgements 
about economic fairness or what the outcome of the economy or policy measure(s) 
ought to be. They question whether they are good or bad and deal with what ought to 
be. 

A normative statement is a statement of value: it is about what ought or ought not to 
be, about whether something is desirable or undesirable.  Such statements cannot be 
proved or disproved.  Often, they have their origin in positive statement but they 
cannot be proven true or false by referring to objective data. 

Examples: The GST should not be increased from 5% to 7%. The rich ought to be 
taxed more than the poor.  

1.3 OVERVIEW OF TOPIC 

Central Economic Problem: 

Unlimited Wants Limited Resources 

Need for choice arises. 

Opportunity cost is incurred. 

Rational decisions are made by economic agents. 

The free market helps to allocate scarce resources. 

+ Concept of Scarcity 
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2 SCARCITY, CHOICE AND OPPORTUNITY COST 
 
2.1 SCARCITY OF RESOURCES 
 
All societies face the basic problem of scarcity due to limited resources and 
unlimited wants.  Scarcity makes it necessary for us to make the most of what we 
have. 
 
Resources here refer to factors of production or inputs into the production 
process and they are divided into four broad categories: land, labour, capital and 
entrepreneurship. 
 

1. Land 
This includes all those productive resources supplied by nature.  This 
means that it includes not only land in the conventional sense of plots of land 
but all those resources freely supplied by nature such as rivers, trees, 
minerals. 

  
2. Labour 

Labour is human effort – physical and mental – which is directed to the 
production of goods and services. The labour force in a country includes 
those employed (those who have a job) and unemployed (those who are 
actively seeking for a job).   
 

3. Capital 
Capital as a factor of production, otherwise also known as physical 
capital, refers to man-made resources like machines, tools and factories. 
Infrastructure such as roads, airports and telecommunication networks are 
essential forms of capital. 

    
We need to interpret the term “capital” in its given context.  

 
 
 Would you consider money, stocks and shares as factors of production? 
 

No. Money, stocks and shares are paper assets, which are merely claims on physical 
assets. Hence, money, stocks and shares are not factors of production.  
 

 
4. Entrepreneurship 

An entrepreneur is one that performs the functions of organising and 
managing the factors of production, innovating new products and ways of 
production and taking the risks of being in business.  Entrepreneurs supply 
products into the market in order to make a profit. 

 
2.2 INEVITABILITY OF CHOICES  
 
o Economy: An economy has to make choices regarding the use of scarce 

resources to produce goods and services. There are 3 questions that an economy 
has to address: 
 
1. What and how much to produce? 

Since there are not enough resources to produce all the things that people 
desire, choices need to be made on what goods and services get to be 
produced and in what quantities. Society needs to choose the composition of 
total output to be produced. For instance, should the economy devote more of 
its scarce resources to the production of consumer goods or capital goods?  

 
 
 

Study Tip: It is 
important to 
remember these 3 
fundamental 
questions and 
discuss how well 
the free market 
addresses and 
solves these 
problems in the 
following topics. 

Study Tip: The 
acronym CELL is a 
good way to 
remember the 4 
factors of 
production:  

C-Capital 
E-Entrepreneurship 
L-Land 
L-Labour 
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2. How to produce? 
Most goods can be produced by a variety of methods.  Choices need to be 
made on the composition of resources used and the technology that is to be 
adopted. For example, should an economy adopt labour intensive or capital 
intensive methods of production? 
 

 3. For whom to produce? 
The total output needs to be distributed among members of the society.  How 
should this distribution be carried out? Should the good be made available for 
all regardless of a person’s ability to pay or should its consumption be 
restricted only to those with the ability to pay?  

 
2.3 OPPORTUNITY COST                     
 
Scarcity forces us to choose between our wants and in the process, prioritise our 
wants. Every time a choice is made, an opportunity cost is incurred. Opportunity 
cost measures the cost of any economic choice in terms of the next best alternative 
that has to be forgone. Opportunity cost measures choices in real terms (quantity of 
physical goods given up). Many examples of opportunity costs exist at the level of the 
economy and its economic agents. 

Example 1 – Economy: As resources (or factors of production) are scarce, the 
opportunity cost of an economy devoting more of its resources to the production of 
new capital goods is the forgoing of production of new consumer goods. 

Example 2 – Producer (e.g. Farmer): The opportunity cost of using arable farm land to 
produce wheat is that the land cannot be used for the cultivation of potatoes in the 
same production time period. 

Example 3 – Student: Suppose you choose to spend an extra hour on studying 
economics.  What is your opportunity cost?  When you study for one more hour, there 
are many other things you could have done in that one hour.  You could have 
watched your favourite television show, or you could have gone for a bowling session 
or you could have taken a nap.  However, your opportunity cost is forgoing the next-
highest ranked alternative, and not forgoing the sum of all alternatives. If you 
consider taking a nap to be the next best alternative, a nap would have been your 
opportunity cost of studying for one hour. 
 
Example 4 – Consumer: With limited income, we cannot buy everything that we want. 
Assume that you were given S$500. Assume also that with the S$500, you can either 
buy a handphone or go on an overseas trip to Hong Kong or buy a new bicycle. 
Assume that your preferences are ordered as follows: (1) a new handphone; (2) an 
overseas trip to Bangkok; (3) a new bicycle. Based on your preferences, you will buy 
the new handphone. By doing so, you give up your second highest preference which 
is the overseas trip to Hong Kong.  Hence your opportunity cost of buying the new 
Iphone X is forgoing the overseas trip to Hong Kong.    
 
Example 5 – Government: The US government has limited financial resources.  By 
choosing to increase spending on new military equipment, there will be less money 
available to improve the healthcare sector. The opportunity cost of increasing 
spending on new military equipment is forgoing improvement in some areas in the 
healthcare sector.  

 
When education is provided free of charge, does it mean that no opportunity 
cost is involved? 
 
Zero price does not mean zero opportunity cost. Even if education is provided free of 
charge, the provision of education still involves an opportunity cost. Providing 
education requires resources that could be used to produce other things like medical 
care services, parks or street lighting. Some things have to be given up so that other 
things can be produced, hence the popular saying by Milton Friedman, “There is no 
such thing as a free lunch.”   
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Goods can be classified into economic goods and free goods.  
 
Economic goods are those that use scarce resources in their production and hence 
production of economic goods involves an opportunity cost. Economic goods are also 
limited in supply relative to demand. Most goods are economic goods. On the other hand, 
free goods are those which take no resources to make them. Hence, free goods do not 
involve an opportunity cost. Can you think of examples of economic goods and free goods? 

 
 
Evaluating the Concept “Opportunity Cost” 
 
Economists assume that people rationally choose the most valued alternative. This 
does not mean we exhaustively assess the values of all possibilities as it takes time 
and effort to gather all that information. On top of that, the concept of opportunity cost 
is subjective and difficult to calculate. 
 

• Opportunity cost is subjective.  
Opportunity cost differs between individuals and between societies. Only the 
individual making the choice can identify the most attractive alternative.  
 

• Calculating the value of opportunity cost is difficult.  
Firstly, we often face difficulties ranking our preferences and putting an exact 
value on each one of them. When choosing one option over another, we 
seldom know the actual value of what was forgone because the next best 
alternative is “the road not taken”. We only know what we expected to give up 
but not what we actually gave up. 
 
Secondly, acquiring information about alternatives is often costly and time 
consuming. Some choices are based on limited or even wrong information 
and hence, some choices turn out to be poor ones. However, at the time we 
made the choice, we thought we were making the best use of all our scarce 
resources, including the time required to gather information about your 
alternatives. 
 

• Opportunity cost may vary with circumstance.   
Since opportunity cost depends on the alternatives, the opportunity cost of 
consuming a particular good or undertaking a certain activity will vary with 
circumstance. This is why you are less likely to study on a Saturday night than 
on a Wednesday night. On a Saturday night the opportunity cost of studying is 
greater because you have more alternative activities, and usually the 
expected benefit of at least one of these alternatives exceeds the expected 
benefit from studying.  
 

 
Sectional Summary 
 
 Central economic problem all economies face is the problem of scarcity. 

Because of scarcity, choices need to be made and with those choices, 
opportunity cost is incurred.  

 In the process of choosing how to make use of the resources, governments 
need to answer these 3 questions. 1) What and how much to produce, 2) How 
to produce and 3) For whom to produce.  

 Resources or factors of production are Land, Labour, Capital and 
Entrepreneurship.  
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2.4 THE PRODUCTION POSSIBILITY CURVE (PPC) MODEL 

The Production Possibility Curve (PPC) model can be used to illustrate concepts of 
scarcity, choices and opportunity costs. The Production Possibility Curve (PPC) is 
a graph that shows the maximum attainable combinations of output that can be 
produced in an economy within a specified period of time, when all the available 
resources are fully and efficiently employed, at a given state of technology.  
 
When drawing a PPC for any economy, the following assumptions need to be made.  
1) 2 types of goods produced 
2) Fixed amount and quality of resources and all resources are fully and efficiently 

utilised 
3) Fixed state of technology within the specified time period  
 
Figure 1: The Production Possibility Curve Shows Possible/Alternative Combinations   
                 of 2 Goods Produced 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 According to Figure 1, if all resources are fully and efficiently utilised in the 

consumer goods industry, the economy would produce a maximum of 600 units 
of consumer goods and no capital goods (point A).  If all resources were fully and 
efficiently used in the capital goods industry, the economy would produce a 
maximum of 40 units of capital goods and no consumer goods (point E).  If the 
economy were to divide its resources between the two industries, it could produce 
various combinations of consumer goods and capital goods, for example, 
combinations B, C and D. All points on the PPC represent productively efficient 
levels of production (for example, points A and C in Figure 1) because resources 
are fully and efficiently employed – the economy is producing the maximum 
output possible. 
 

 Combination F is an example of an unattainable combination, given the current 
amount of resources and the state of technology the economy has.  In other 
words, the economy can produce at any point on or inside the production 
possibility curve but it cannot produce at points outside the curve. 

 
Scarcity is illustrated by the unattainable combinations outside the PPC as well 
as the fact that society has to choose among combinations of the two goods as 
resources cannot be used to produce all at the same time. 
For example, if the economy is initially operating at point C and a decision 
is made to move to point D, the opportunity cost of increasing production 
of capital goods by 10 units (20 to 30 units) is 120 units of consumer goods 
forgone (520 to 400). 
 
The downward (negative) slope of the PPC illustrates the concept of 
opportunity cost.  To choose to have more of one good means having to give up 
some of the other good, given that the limited amount of resources have been 
fully and efficiently employed. 

F 
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 Combination G is an example of an attainable but inefficient combination.  
Resources have not been fully and efficiently employed. The economy is 
experiencing unemployment (in which not all the available resources are used in 
the production of goods and services) or underemployment (in which resources 
are engaged in production but are operating below their full capacity). More 
goods can be produced by increasing the employment of the idle resources or 
use them more efficiently. At point G, it is possible to use the unemployed and 
underemployed resources to increase the production of one good without 
decreasing the production of the other good, that is, opportunity cost incurred is 
zero (for example, movement from point G to B.) Points inside the PPC (for 
example, point G in Figure 1) are productively inefficient because resources 
are either unemployed or underemployed – the economy is not producing the 
maximum output possible. 

 
2.5 SHIFTS IN THE PPC 
 
1. Increases in quantity of resources 

Should there be increases in any of the factors of production (labour, land, capital 
stock etc.), this will enable the economy to produce more than before. Should the 
increase in factors of production be equally applicable to both consumer and 
capital goods, there will be a parallel outward shift of the PPC from C0F0 to C1F1 

(Figure 2). However, if the increase in resources affects the production of 
consumer or capital goods only, then the PPC will experience a pivoted shift such 
as from C0K0 to C0K1, as shown in Figure 3. In other words, as long as the 
increase in resources applies more to capital than consumer goods, the PPC will 
shift in a skewed manner, with the shift of the PPC on the capital goods axis 
being greater than the shift of the PPC on the consumer goods axis. Notice that 
the opportunity cost of producing capital goods in terms of consumer goods has 
fallen with this skewed shift in PPC (refer to Figure 3). 
 

2. Increases in quality of resources 
Similarly, should the efficiency of the factors of production be improved (for 
instance due to skills upgrading of workers), the PPC will also shift outwards.  
 

3. Improvement in technology (tech advancement) 
Technological improvement represents new and better methods of producing 
goods, for example, the use of computers. Technology can increase the 
productivity of resources/inputs such that for a given amount of resources/input, 
more output can be produced. If the technological change can enhance the 
production of both goods equally, there will be a parallel outward shift of the entire 
PPC (Figure 2). If the technological improvement is in the capital goods industry 
only, the PPC will shift in a skewed manner, as shown in Figure 3.   
 
 
 

 
 
 
 
 
 
 
 
 
 

Sectional Summary 
 The PPC can reflect the concept of Scarcity, Choice and Opportunity Cost. It 

can also reflect efficiency (which we will elaborate in future topics). 
 The entire PPC can shift based on changes in 1) Quantity of resources, 2) 

Quality of resources and 3) improvement in technology.  

Question:  Is it 
possible for the 
PPC to shift 
inwards? What can 
cause that to 
happen?  

Consumer goods 

0 

C1 C0 

C0 

Capital 
goods F0 

Consumer goods 

F1 K1 
0 K0 

Figure 2: Parallel Shift of the PPC Figure 3: A Rightward Skew of the PPC 

Capital 
goods 
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3. RATIONAL DECISION-MAKING AND THE MARGINALIST 
PRINCIPLE  

 
3.1  DECISION-MAKING UNITS OR ECONOMIC AGENTS  
 
Decisions must be made regarding the use of scarce resources in any society. 
 
If decisions must be made, who should make them? How are decision-making units in 
any economy typically classified? Economists typically classify them into firms, 
households and the government. The concept of choice applies to all decision-
making units or economic agents in an economy. 
 
Firms: A firm is an organisation that uses resources to produce goods and services. 
All producers are called firms. 
 
Households: A household is any group of people living together as a decision-
making unit. Every individual in the economy belongs to a household. When an 
individual buys and consumes goods and services, he or she is usually called a 
consumer. When he or she offers labour services, he or she is usually labelled 
“labour”. If his or her job is mainly to organise factors of production, he or she will be 
called an entrepreneur. 
 
Government: In economics, the government has a role in providing public goods, 
redistributing income, regulating markets and improving economic performance and 
standard of living in a country.  
 
3.2 THE ECONOMIC DECISION MAKING PROCESS 
 
The process of decision making often requires every economic agent to deliberate on 
the various choices that are available to them. This process involves the need to take 
into account certain considerations. These considerations include: 
 

 Constraints: Economic agents have to consider the constraints they are 
facing in order to decide on the best-ranked choice that maximises their net 
benefit. 
 

 Costs and Benefits: In making any decision, every economic agent would 
need to consider the monetary and non-monetary costs and benefits that 
result from making a choice.  
 

 Information: In order to make arrive at an optimal decision, economic agents 
would need to gather relevant information to properly assess the costs and 
benefits of every choice. With this information, economic agents would be 
better able to not only understanding the costs and benefits of every choice, 
but also assess the trade-offs as well as analyse the intended and 
unintended consequences arising from the decision made.  
 

 Perspectives: Every economic decision made by economic agents need to 
take into account the perspectives of relevant stakeholders since the impact 
on and the subsequent reaction of those affected by the decisions may in turn 
affect the intended outcome of the decision made.  
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3.3       MAKING RATIONAL DECISIONS 
 
The basic assumption of Economics is that all decision-making units make rational 
decisions. Rational decisions involve the weighing-up of the costs and benefits of any 
activity. Economic agents will always choose the alternative that allows them to 
maximise their net benefit (the difference between benefit and cost). 
 
• Firms: Faced with scarce resources (or factors of production), firms have to 

decide what goods and services to produce in order to achieve its objective. 
Traditional theories of the firm assume that the firm seeks to maximise its profit. 
Hence faced with scarce resources, firms have to decide what goods and services 
to produce in order to yield the highest level of profit (Profit = Total Revenue less 
Total Cost). Firms also have to decide on how to produce these goods and 
services (i.e. the method of production).  
 

• Households – Consumers:  Faced with a limited income, households will select 
the particular combination of goods and services (holidays, food etc.) which yields 
the highest satisfaction/utility. 
 

• Governments: Faced with budget constraints, governments aim to maximise 
social welfare. They will have to prioritise their spending. For example, the 
government needs to decide between welfare or infrastructure expenditure. 

 
3.4 THE MARGINALIST PRINCIPLE 
 
Most of our economic choices are made at the margin.  The margin is the edge or 
border where we must decide whether to take one more step, whether to purchase 
one more unit of a particular good or whether to use one more unit of a particular 
resource. Rational choices made at the margin involve weighing up marginal costs 
and marginal benefits.  These are the costs and benefits of doing a little bit more of a 
given activity. 
 
Consumers use marginal analysis when buying.   

• Economists assume that benefits can be measured and the benefit of 
consuming additional units of a product decreases with amount consumed. 
For example, the benefit derived from consuming the first cup of ice-cream 
will be higher than the second and the second would be higher than the third 
and so forth for subsequent units. 

• We spend on one item until the benefits gained from spending on an 
additional unit (marginal benefit or MB) of that good is equal to the price of the 
good. The price is also the opportunity cost to the consumer since the income 
spent could have been used for the purchase of a different good.  

• If MB > price, it is rational to choose to consume more of that good.  
 
Firms/producers use marginal analysis to decide the level of production.  

• The benefit to a car manufacturer is the amount of revenue he receives from 
the sale of the car. 

• A profit maximizing car manufacturer produces cars until the production of 
one more car brings in the same amount revenue as its cost of production. 
That is, he compares the cost and revenue of the additional car produced. If 
an additional car adds more to the firm’s revenue than to its costs, it will be 
profitable to produce 1 more unit of it. The firm should keep on producing 
additional cars until the additional revenue from selling that last car is equal to 
the additional cost of producing that last car. 

 
Firms/producers also use marginal analysis when they decide how many units 
of a particular resource to use in production.  

• They hire salespeople until hiring one more salesperson adds less to sales 
revenue than to costs 

Key Concept: A rational 
decision weighs costs and 
benefits. In deciding how 
much to produce or 
consume, the marginalist 
principle (see below) is 
used. 

Marginalist Principle: 
Producing or consuming up 
to the point where the 
benefit from the last unit 
produced or consumed 
(marginal benefit) is equal 
to the cost from the last unit 
(marginal cost). 
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Governments use marginal analysis to make decisions and allocate resources. 
Objective: Maximise Social Welfare 

• Part of a government’s role is to decide where tax money should be spent on 
to the benefit of the people.  

• They may need to make choices on what projects to undertake or how many 
should be built (for example, schools).  

• By considering the marginal social benefits (all parties, rather than just the 
consumers or producers) and marginal social cost, government will decide the 
allocation of resources that maximizes social welfare.  

 
In effect, our entire economic system makes decisions at the margin.  We increase 
production until one more unit of output is worth equal to the resources required to 
produce it.  In this way, we help ensure that our scarce resources are used to produce 
the things we want most. 
 
In summary, the economic decision making framework can be represented as below. 

 

 
 
 

Sectional Summary 
 Marginalist principle is whereby decisions are made at the margin; where the 

marginal cost and marginal benefits of an activity are considered in the 
decision making process.  

 Consumers: Marginal Utility (Benefit) against Marginal Cost (Price) 
 Producers: Marginal Revenue against Marginal Cost 
 Government: Marginal Social Benefit against Marginal Social Cost 

 
4.  RESOURCE ALLOCATION IN A FREE MARKET ECONOMY 
 
All societies are faced with the problem of scarcity. The way in which society 
addresses the 3 fundamental questions on resource allocation differs from country to 
country. The degree of government control over the economy gives rise to different 
economic systems. 
 
At one extreme lies the completely free market economy where there is no 
government intervention at all.  There is private ownership of all resources and 
individuals and firms take all economic decisions.  Producers are free to make and 
sell whatever output they think will be profitable.  Consumers are free to buy whatever 
goods they can afford.  This entire voluntary buying and selling is coordinated by 
unrestricted markets, where buyers and sellers make their wishes known.   
 
The price or market mechanism refers to the system of allocating resources using 
price adjustments caused by market forces in a free market economy. Market prices 
guide resources to their highest valued use and direct goods and services to 
consumers who value them the most. The allocative and distributive functions of 
prices will be explained using demand and supply analysis in the next topic. 
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